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1. 95 Ud 152 I HOWOUO & —

@) 57 @) 1 @) 19 () 38

The H.C.F. of 95 and 152, is -
(@) S 7 el ()T AL (¢) 19 (d) 38
2. 9gUT f(x)=5x+13x+k BT U el AQ GER ol DI oA & il K BT A BT —
3) o @ 5 @ 16 (& 6
If one root of the polynomial f(x)=5x2+ 13x+k is reciprocal of the other, then the value of k will be -
(a) O (by 5 ¢y 16 (d) 6
3. U% gHFN A0 61 YUH U 4 TT WHAN -2 § | 396 9rEdl U NI —
(3) -8 (@ -4 (@ 4 () 3
The first term of an A.P. is 4 and the common defference is -2. Its 5" term will be -
(a) -3 by -4 (¢) 4 (d) 3
4, 9sec’A-9tan’ATTER §
@) 1 @ 9 (@) 8 @ o
9 sec’A-9 tan’A is equal to -
(@ 1 (b 9 () 8 (d 0
T gfs P(E)=0.75, a1 ‘E €1 &1 urfasan 8rfl —
@) o035 (@ o025 ([®E) 015 (&) 052
If P(E)=0.75, the probability of ‘notE’ is -
(a) 035 (b) 025 (¢) 0.15 (dy 0.52
6. ae1,3,5,7,9, XxF1 Ag 5 & d X BT A9 T BTG —
The mean of 1, 3, 5, 7, 9, x is 5, calculate the value of x.
, wiE B i wiieRer g 5x-3y-11=0; -10x+6y+22=0 H7d 2 |
Check whether the pair of equations 5x-3y-11=0; -10x+6y+22=0 is consistent.

8. 10 W0 o= Uh WA U <IaR W T W Y 9§ 6 Hlo BT 3dTs U= e U Raed! d% ygadl ¢ |
IR B AR I ST & fraet R 31 gl §7d I |

A ladder 10m long reaches a window 6m above the ground. Find the distance of the foot
of the ladder from base of the wall.

9. IR fag M O d= e el g7 ¥ MA, MB w3 Y@t owva® 60° & 107 0% a1 &1 a1 101
MOA &1 711 g5 | '
Iftangents MA and MB from a point M to a circle with centre O are inclined to each other
atan angle of 60", find the value of angle MOA.
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10.

11.

12.

15

14.

15.

16.

UE T B ST 6 HOHI0 B, TSI AT M DI | 1
A cube has side 6¢cm, Find its volume.

T &Il § 7 BTofl, 3 ATl AT 5 B 37 B 14 5, Ifa 39 Jol § ¥ T& 15 Irg=d] fHabrell Wi 2 a1 2
TR ST BT b T8 7 ot & |

A bag contains 7 black, 3 red and 5 white balls. A ball is drawn out from the bag at
random. Find the probability that the ball drawn is red.

gigar (OR)
52 Ul P 3T UPR | Bl TS U TgS! # F T U1 bttt off Fanaht &, Feifehd 1 ured o &b
I T BT —
(@) dAITMBTER T8 (@) TP B BIE AT TN gre] g1
One card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting -
(a) akingofredcolour(b) afacecard.

]

oTHTE 8 W0 ITel Uoh SRATER W Bl YA U= BT b o g 4 Hio € Sfafd Sl v te iR &l s
BT HTE 30 W0 B | AR B TS 91 DI |

A vertical pole of length 8m casts a shadow 4m long on the ground and at the same time a
tower casts a shadow 30m long. Find the height of the tower .

X- 3 W 8 fag s BIRIT o (2, —5) 3R (-3, 5) | TG 2| 2
Find the point on the x- axis which is equidistance from (2, -5) and (-3, 5) .
k@ forg 7191 & forg, =1 3Ra® = & uRAd w0 A 3% g 8111 ? 2
6x+5y=0
kx+10y=0

For what value of k, will be the fellowing pair of linear equations have infinitely many
solutions ?
6x+5y=0
kx+10y=0
Ife tand = 8/7 A1 A Aoy | 2
(1 —sin){(1 + sing)
{1+ cos®)(1 - cos8)
If tan® = 8/7, then evaluate.
(1-s5ing@¥{1 + sind)
{1+ cos@){1— cos8)

gierar (OR)
s 6 —
tan60® —tan30° 59,11
1+ tan60% tan30°
Show that :-
tan60? —tan30°
= tan30°

1 + tan60?.tan30°

Rrg T b o g A(S, -2), B(6, 4) 2 C(7, -2) arell (o1 U wAfgarg fr & | 3
Prove that the points A(5, -2), B(6, 4) and C(7, -2) are the vertices of an isoscales
triangle.



17.

18.

5

20.

21.

2 U 3R 3 ST BT Yo 9 0 & [ 4 ST 3i 6 ¥aS] BT I 18 %0 & | Ui Ul IR ydh vge 3
BT 7 S DI |

The cost of 2 pencils and 3 erasers is Rs. 9 and the cost of 4 pencils and 6 erasers is Rs. 18.
Find the cost of each pencil and each eraser.

g BT 5 2v3 T& Ry §&1 & | 3
Prove that 2v3 is an irrational number.
Jizrar (OR)
Raw eyl @1 gid A —
@ LT T e g
(@) 27, 39, 81 BT AOTOUO ..o B |
Fill in the blank -
(2) VEIS @ ceeeeeererneienenieent st number.

(b) Decimal eXpansion Of qe IS ..oc.cereeerersiieniisianns
(C) ELC.F. 0F 27, 39, 81 IS rovrrsvrersoeerreeresesrerssee

S W gl B BreuTd 6 Yoo T 3 WO ¥ | IS 91 B 99 i1 B a=rg S B o B 3
I BT T BT |

Two concentric circles are of radii 6¢cm. and 3cm. find the length of the chord of the
larger circle which touches the smaller circle.

Jerar (OR)
T g @ g o wgye ABCD @fen T 7 |
Rrg PHIIT - AB+CD=AD+BC

—C

'”x‘k | 1IIIJ.l
: Q
N/

AP B
A quadrilateral ABCD is drawn to circumscribe a circle.
Prove that : AB+CD=AD+BC

"?C

B‘_’f
Di’( \/

NS

AP B
35@ror?rﬁmnfnﬁa@zﬁwrﬁﬁaﬁfﬁumﬁ'msﬁoﬁoamwwzﬁwﬁmw%| 3
o1 B TS T BiioTY |
A metallic sphere of radius 3.5cm. is melted and recast into the shape of a cylinder of
radius 8cm. Find the height of the cylinder.

o PR &1 &aa 9 AT fe o (1, —1), (4, 6) 3K (-3, —5) F| 3
Find the area of a triangle formed by the points (1, -1), (-4, 6) and (-3, -5). :
Jerar (OR)
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22.

23.

24.

25.

26.

k &1 A w1 Ffog, afe fasg A(2, 3), B(4, k) 3w C(6, -3) Wl &

Find the value of k if the points A(2, 3), B(4, k) and C(6, -3) are collinear.

g a1 - 3
cosf ~ stng + 1
cos@ + sinf - 1

Prove that :-
cos@ — sing + 1

cosf + sing— 1

= cosect + cotf

= casec + cotf

@ 7 Irpfa § 2 ACB=90° gor CDLAB, 3
g BINT 6 — pez pp
ACT T AD

In given fig. « ACB=90° and CD1AB,
Prove that :- BC?  BD

ACZ 4D /g
/ A
: | \“\

A D "B
<1 3Pl DT HEATHT BT AT 9 R | § AT BT 9 T[T T D 3 Dl Uoren) & 941 Wl & 2 TR | 3
TE T ST B |
The sum of a two-digit numberis 9. 9 times of this number is 2 times the number formed
by reversing the digits. Find the number.

gfoRemq faff @ ga F30 3

Vix+¥3hr =0

V3x -~ \"E)' =0

Solve by substitution method.

V2 +3y =0

Vix—vBy =0
I W fHE favg | U BTSSRI BT I8 DI 60° R | 15 YHUE B] I B UvHT S BT B
IIABY 30" BT ST & | A BATS WIS 1500v3 Ho I Fraa Sors R 9o ve1 2, ol 2918 ofert & o
fepodio ufer ErveT # T BifT |
The angle of elevation of an aeroplane from a point on the ground is 60°. After a flight of
15 seconds, the angle of elevation changes to 30". It aeroplane is flying at a constant it
height of 1500v3 m. then find the speed of aeroplane in km. per hour.

| srerat (OR) |

U% HFR & UT5 &g 3 U 9a & RReR 7 3107 P11 30° R &R e & g g & v 91 B
RRER 1 =184 BIv1 60°% | e HIFR 50 Hio S &1 O Ha= & SaTs S BT |
The angle of elevation of the top of the building from the foot of the tower is 30° and the
angle of elevation of the top of the tower from the foot of the building is 60°. If the tower
height is 50 m, find the height of the building.
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27.

28.

29.

<1 AT TS QOIS SITd BITY foTea aaTi &l 417 365 B |

Find two consecutive positive integers, sum of whose square in 365.
arerar (OR)

<} Afel @Y AT BT U 97 B iR IS WAl BT AU 43 € | I S A ufd 7811 § Bo
2000 9T I & T Sdh! AMAS 3G F1d ST |

The ratio of incomes of two persons is 9:7 and the ratio of their expenditures is 4:3. If
each of them manages to save Rs. 2000 per month, find their monthly incomes.

32 Qoo S 3R AR a7 18 WoHo g1ef] T do-TdR dTec! ¥d | 9= €8 © | $9 diee] @ A u¥
ST foraT O & 3R N X B Uh IRETBR X a8 SRl & | Jfe AaraR 39 Bl $Harg 24 Howo
& 39 0 31 FBrsan &R e Sarg =i ST |

A cylinderical bucket, 32 cm. high and with radius of base 18 cm. is filled with sand.
This bucket is emptied on the ground and a conical heap of sand in formed. If the height
of the conical heap is 24 cm, find the radius and the slant height of the heap.

TR TAT g1 ® ? 7F § BP @ik CQ UF GFa e ABC @1 Aifeasmig € 7o 59 Rt &3

g o1 — 4(BP*+CQ*)=5BC’ e f/
// f
/ ré(f!dQ
R ,f’/
2
e —a
G If A
What is Baudhayan Theorem ? In figure, BP and CQ are medians of a triangle ABC right
angled atA. B
Prove that :- 4(BP+CQ")=5BC’ /
/
/ f_/ 5
e
/ = ,ﬂ_}*f’
- /
f,f_r;_d_,f
= p A

30.

f T sffs! &1 9gad = IR
Find the mode for the following data :

R 515 | 15-25 | 25-35 | 35-45 \ 45-55 | 55-65 !

Class Interval | |

n il S 14

i e 2 1 21 23 l . 5
arerar (OR)

fereferRRac aiferel o1 A 525 & | IfE TRFRAIST BT AT 100 & T X TAT y I HI ST BINY |
The median of the following data is 525. Find the value of x and y, if the total frequency
is 100.

)

| S
i 0-100| 100-200 200-300‘300-400 ‘400-500 500-600{600-700700-800/800-900( 900-1000
Class Interval | . .

RN | _

Freqhontyth Wi L 5 X I igmfw aiaie 20 iy e 7 4
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